Of & AF & &F A
20158 S0la LBl A
A R =y
Bu: cRAaR
telr E2Y E (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Fa=gn'3 10,888,280 6,370,926 4,517,354
= 2,000,000
X 856,000
Al 3,880,241
T 4,152,039
S ZAE2el 5,280,694 4,678,809 601,885
Al 1,319,104
- 3,961,590
2L =5 3,851,100 2,974,100 877,000
Al 1,300,000
- 2,551,100
T2 % ot=Ald ZHALY 2,551,100 2,024,100 527,000
201 Let249] 1,100 1,100 0
01 At 22/l 1,100 1,100 0
O 1. det=8H| 1,100
—HEHEESHE 50,000 » 4& 200
— 2= X 25,000 = 63 150
—ES(EA)2E NH 50,000 » 15& 750
401 AIEHI L 2 CHYI 2,550,000 2,023,000 527,000
01 A& HI 2,545,000 2,018,000 527,000
O LEs 2 1 Bl Abel
(L=680m) 170,000
O +¥s yg 1 &l AbeS
(L=800m) 200,000
O 20ls ¢ Ee ZHlAL
(L=680m) 170,000
O zos U 2 5 H Ul AbeS
(L=1,400m) 350,000
O plats o el =LIPN=
(L=800m) 200,000
O ot=23 7l 200,000 = 1,500m 300,000
O 2UE=z 40 140,000
—E2XHE g 1,400,000 = 100@ 140,000
O E2AES 100,000
—EZANE=S 70,000,000 * 14 70,000
— s AFHX 200,000 = 1500H 4 30,000
O dt=22 C.C. 15,000
—C.C.T.V =AM 10,000 = 1,500m 15,000
O dt==AlEE2 = 200,000
—ot=AlE 22 200,000 = 1,000m 200,000
O E2HE B 100,000
— HE FH[(1,500,000 * 67 L) 100,000
O |eIX 2 600,000
—E2=F = 2,000,000 * 300@ 600,000
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SN AL
Y T2 AL
oYl E2Y 5 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al S THHI 5,000 5,000 0
O 243 dAZEIALEHASY NEFPY S
5,000,000 * 14l 5,000
T SR USH ~ SHUESE+HEZ S 2EHE(E 300,000 15,000 285,000
EA)
Al 300,000
401 AIEHI L 2] 300,000 15,000 285,000
Al 300,000
01 A& Hl 300,000 15,000 285,000
O 7 SRFUSI-dHUEZHA2Z =2
x 300,000
— SAHI(ZSZ =& L=70m,B=6m) 100,000
Al 100,000
— BAHI(EXNEA 14)) 200,000
Al 200,000
HEH 22 TRNESA(EZAMNY) 500,000 0 500,000
Al 500,000
401 AIEHI L 2 CHYI 500,000 0 500,000
Al 500,000
01 A& HI 500,000 0 500,000
O 883 22 24 500,000
— BAUI(EXEA 14]) 500,000
Al 500,000
P52 632 GlxZ 2 HUISA(EXZAY) 500,000 0 500,000
Al 500,000
401 A& HIZ 2018 500,000 0 500,000
Al 500,000
01 A& HI 500,000 0 500,000
O F&=2 6382 o222 FUISA 500,000
— S AUl (22 & "l D600mm, L=580m) 500,000
Al 500,000
S ATH = 2tel 24,743 22,010 2,733
SEHO TAIAE 2el 24,743 22,010 2,733
201 Yt | 17,162 17,162 0
01 At 22l 17,162 17,162 0
O 1. gBt=2H| 17,162
—CAZAE (223D Z20s
55,000 * 3% * 7cm * 20HAL = 1.1 » 23] 5,082
—=2.37A ZAH & 25
250,000 = 30E X 7,500
—+=8EXs a%d 08 ==&
14,000 = 20E Xl 280
—EACH EH5E Zyuely 43
40,000 * 1498 = 5CH 2,800
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A A&
Mz T2 AH 22
Celt SREUAM U IIFLH B (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—Jl2S AAMOl PH2E ABR
8,000 * 195004 * 128 ~ 1.1 20,592
—BOIS AAKO PHDY A8
5,000 * 5)A * 128 * 1.1 330
~Jl2S FANNNEHL MEE
25,500 * 1A « 128 ~ 1.1 337
206 M = dl 153,852 133,586 20,266
01 &2 bl 153,852 133,586 20,266
O Jzs B MM 73,586
— o 22,000 » 3,400 * 0.3 22,440
— OtA D] 25,000 * 3,400 * 0.1 8,500
-S|+ 68,000 * 3,400 * 0.03 6,936
— 8E)| 750,000 * 195%4 % 0.2 29,250
—2dE 50,000 = 3,400 =* 0.02 3,400
— S8 XS] 30,000 * 3,400 * 0.03 3,060
O Bots B M 74,250
—go 22,000 * 3,300 * 0.3 21,780
— oty 3 25,000 = 3,300 * 0.1 8,250
- S+ 100,000 * 3,300 = 0.03 9,900
=Pl 52,000 * 3,300 * 0.2 34,320
O d3&xd 24 XM 6,016
— LED &= 200,000 * 883 = 0.01 1,766
— SMPS(Q/H &) 150,000 * 100S * 0.05 750
—SHN2E 100,000 * 100S * 0.05 500
—ZEEH 1,500,000 * 1090 = 0.2 3,000
401 Al HI L 200 450,745 617,490 N 166,745
01 Al& H| 450,745 617,490 N 166,745
Oolgl 9 ADIRSS =3
4,000,000 * 42 * 23] 32,000
O L.:izs uH 5,000,000 = 142 70,000
O L.:=4&dz WA 550,000 » 60& 2+ 33,000
O Bors a4 750,000 * 30 * 33 67,500
O L.&8ets Wi 750,000 * 255 * 23| 37,500
O &E2Xxg EXFEH ME+ 27,495
—JI2s 2,500,000 * 195%H = 3% 14,625
— Hots 130,000 * 3,300 * 3% 12,870
O Bots B 30,000 *» 7508 * 23] 45,000
O L& E Wi 5,000,000 * 19598 = 3% 29,250
O Bots 2ZAHMAH AIAE &EX]
250,000 * 1004 A~ 25,000
O J2s F2HAHAAE WA
2,000,000 * 195J0HA * 10% 39,000




A A&
o C2ALRe
Celt SREUAM U IIFLH B CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O *22% NaEcE & MBE ZdS &X
= At 45,000
—3s38s &X 2,000,000 * 202 40,000
— 23S & - A 5,000
2 |1 SIS JI&8&H 2 59,691 59,199 492
201 et A | 59,691 59,199 492
02 3524l 59,691 59,199 492
O 1. 2222 2 HMA 54,891
— 2 g1 52| SA22 2,112
P Y MIJAES
20,000 = 8CH = 12& * 1.1 2,112
— 22U g0 2| I3 14,851
23
6,160 * 15KW * 8CH * 12& 1.1 9,758
ANERS
105.7 * 15KW = 801 = 365< * 1.1 5,093
— 52| &2eSAH|
350,000 * 8CH ~ 12& 1.1 36,960
—=2D| HIBA =22
110,000 = 8CH ~ 1.1 968
O 3. Al EHISXIH| 4,800
— &52J| AMEEHI KXY
600,000 * 8CH * 14 4,800
ZoslaHIN S (SEAY) 29,104 28,797 307
Al 19,104
- 10,000
201 Bt A H| 29,104 28,797 307
Al 19,104
- 10,000
02 35244l 29,104 28,797 307
O 1. 2222 2 MA 9,104
—ZotHT X M) 2 8,975
eEs 5,500 * 60kw * 128 = 1.1 4,356
Al 4,356
ANEERS
81 = 36kw * 4hr » 30 = 12&8 » 1.1 4,619
Al 4,619
—UOIHIOTH A2 129
eEs 1,200 * 128 * 1.1 16
Al 16
AEE 22 850 = 10m » 12&€ * 1.1 113
Al 113
O 3. A& &EHIR X bl 20,000
— Zotol=EB T & S X4l 20,000,000 * 14! 20,000
Al 10,000




2N A&
Ha: T Z2AIEDE
Cell CRETAL U JIFLy e (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
| 10,000
T A IS H e 44,835 47,307 N2,472
201 29| 2,028 2,028 0
01 22l gl 2,028 2,028 0
ST 2,028
—FIlMH G H B AR
164,000 » 12& = 1.03 2,028
206 ul] 5,807 4,279 1,528
01 ul] 5,807 4,279 1,528
SNSRI 2l XM 5,807
— LED &= 200,000 * 764 = 0.01 1,528
— S™8I 20,000 » 7645 * 0.03 459
— SMPS(QIHH E) 50,000 » 7645 * 0.1 3,820
401 IS HI L 2T 37,000 41,000 ~4,000
01 A& HI 37,000 41,000 A4,000
O FAIEII&EHl S22 50,000 * 300JH 2 15,000
T2 SRS LDHSA 12,000
=22 uA 1,500,000 » 82 12,000
O SN2 BExg 22HE WX SAH 10,000
— XIGt b=, A8 HEog M8 WX 5,000
— Q% dIIX HTZE FHUEH 3,000
15 &HALA 2D 28 2,000
20| DJtote 220 |2l 6,464 4,820 1,644
201 29| 6,464 4,820 1,644
02 3524l 6,464 4,820 1,644
A0IDIGHR 201 A 224 5,464
—&IR2 1,177
a2 6,160 = 10KNW = 122 = 1.1 814
ANERS
105.7 = 12kW = 13H » 5F x 48 x 1.1 363
-3 1,350
a2 2,200 = 128 ~ 1.1 30
AERS
1,000 = 40m = 53 x 48 * 1.5 x 1.1 1,320
—SHe3 25,500 » 128 = 1.1 337
—dHAEAY| 130,000 * 203/ 2,600
O A& &EHl S Xl 1,000
— 20 AIE&&b8l Xl 1,000
A SHLNMAEH S22 1,046 0 1,046
201 Yer2 2t 1,046 0 1,046
01 AFR2 22l Yl 1,046 0 1,046




EXN: A4
M. T2 A2
ool CREGAM L Ly el (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
O dI|&H| o2 =3
76,900 * 12 1.1 * 1.03 1,046
THol & THYE o & 4,000,000 1,400,000 2,600,000
= 2,000,000
Al 2,000,000
THOH Ol & & 22| 4,000,000 1,400,000 2,600,000
= 2,000,000
Al 2,000,000
EMFAE EXN(EXALY) 4,000,000 1,400,000 2,600,000
= 2,000,000
Al 2,000,000
401 AlEHIZ 2 0HY| 4,000,000 1,400,000 2,600,000
= 2,000,000
Al 2,000,000
01 Al&H| 4,000,000 1,160,000 2,840,000
O =93 2=HFAIE &1 4,000,000
= 2,000,000
Al 2,000,000
o otEt A A H 1,410,000 100,000 1,310,000
N 856,000
Al 504,000
- 50,000
A oFA H| 1,410,000 100,000 1,310,000
N 856,000
Al 504,000
- 50,000
2ot 4=2 & XULZRASIAIS(EXZALY) 490,000 0 490,000
Xl 245,000
Al 245,000
401 AlEHIZL 2 0HY| 490,000 0 490,000
Xl 245,000
Al 245,000
01 Al&H| 490,000 0 490,000
O Zotelol =22 2B (LorEH]) Al 490,000
—gsE J&ZA (A=7,500m ) 480,000
N 245,000
Al 245,000
Lo =22 AIEZ2R (LBHAISE(EX) 870,000 0 870,000
Xl 611,000
Al 259,000
401 AIEHIZL 2 0HY| 870,000 0 870,000
Xl 611,000
Al 259,000
01 Al&Hl 870,000 0 870,000
O =P ZooHE==2H AIES2(2E) AIY 870,000




2N
X ZH -
L= B

el

X
04
=

2
S

a!

Qe v
e re ux
0H o EJ

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— kBl y=45,000m 870,000
Xl 611,000
Al 259,000
DletgiE Xl MSolE =822 ZHAIY 50,000 100,000 A 50,000
207 I & d| 50,000 100,000 A 50,000
01 A& < 50,000 100,000 A 50,000
O UBMWX NS +B3Y ZSMY EIDH
ZE dSsFASHI 29 (14]) 50,000
SHESAAH (HE W) 197,586 192,117 5,469
Al 57,137
- 140,449
olaAAY|(HA D) 114,273 110,030 4,243
Al 57,137
- 57,136
ol (A& ) 114,273 110,030 4,243
Al 57,137
- 57,136
101 2121 ] 114,273 110,030 4,243
Al 57,137
- 57,136
03 RIAHL*Z2ZZXE S 114,273 110,030 4,243
O ot+EIX2E 22N 114,273
- Jl=2a2 1,942,970 = 2 = 1328 * 1.04 52,538
Al 26,269
- 26,269
— yoct 3,840
NELS (R ) 40,000 * 2% = 12&€ 960
Al 480
- 480
NEL(ELIE)
20,000 » 29 * 12& 480
Al 240
- 240
Ex-YFH 30,000 » 29 * 12&€ 720
Al 360
- 360
MAXH S 70,000 » 29 * 12& 1,680
Al 840
- 840
— a2 25,006
Y= 1,136,520 » 2¥ * 43| 9,093
Al 4,547
- 4,546
224G 1,136,520 » 2H * 23| 4,547
Al 2,273
- 2,274




SN AAD
M HH2IZH(AL)
Sl ey (AL CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
- M= eyl 1,136,520 = 2% = 53] 11,366
Al 5,683
- 5,683
— el =Ml 9,114
FHZ A 130,000 » 24 * 12& 3,120
Al 1,560
- 1,560
Y E SOt 1,303,780 » 2% * 23] 5,216
Al 2,608
T 2,608
U803 388,590 « 29 778
Al 389
- 389
—=U2RE 17,804
SHEL Ry
16,305 * 1.5 = 20A12t = 128 = 2Y 11,740
Al 5,870
T 5,870
s ssIt=Y 126,322 » 29 » 24 6,064
Al 3,032
- 3,032
—SHE2x3 442,600 * 18 = 43| 1,771
Al 886
T 885
i R EPIE RN =, 300,000 * 1 = 13 300
Al 150
T 150
— 2| 100,000 » 2% = 12& 2,400
Al 1,200
T 1,200
— 21 = AtHl 50,000 » 298 * 12& 1,200
Al 600
- 600
— &2/ ¥ I =Hl 100,000 * 29 200
Al 100
- 100
—2el¥ ZAYst 50,000 » 2H 100
Al 50
- 50
2 (AL D) 83,313 82,087 1,226
JlEdyl (A 4) 83,313 82,087 1,226
201 L2l 15,753 14,947 806
01 At 22l 15,753 14,947 806
O 1. Let==ZH| 7,689
—2M2Z JIE2+8H| 2,000
—d2Rs2 324
EXEPN 15,000 » 18 = 128 180
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2N A4
H: HHE2IAH (AL)
2

o
el J=23H(AL ) (Sl & &)

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- X & X 12,000 » 182 = 12& 144
— Z2AMSX 1,365
- A4 21,000 * 658FA 1,365
—Z2AI AZE 300
- EY 100,000 = 33l 300
—TglE A2E 3,000
SOl EY 250,000 * 40§ = 33 3,000
— S Al #=2lt] 500,000 ~ 1CH 500
— 2AESI A2E 200
- EY 200,000 ~ 1CH 200
O 5. =&l 8,064
— A& N2z S|
7,000 » 24 x 44! x 128 8,064
202 04| 63,360 63,360 0
01 2L Yl 63,360 63,360 0
O 2 &0l
20,000 * 249 « 11 = 12€ 63,360
203 Y2 F T Y| 4,200 3,780 420
04 ENSHLRF=AH| 4,200 3,780 420
O A& 350,000 » 12& 4,200




